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PART A - (6 x 1 = 6 Marks) 

(Answer any six of the following questions) 

1. If R is the radius of the main curve, θ the angle of deflection, S the shift and L the length 

of the transition curve, then, total tangent length of the curve, is 

(a) (R - S) tan θ/2 + L/2      (b) (R + S) tan θ/2 - L/2    

 (c) (R - S) tan θ/2 - L/2      (d) (R + S) tan θ/2 + L/2 

2. An ideal vertical curve to join two gradients, is 

(a) parabolic   (b) circular   (c) elliptical   (d) hyperbolic 

3. Difference between horizontal length and measured length along the cantenary is called 

  (a) sag correction         (b) slope correction       

            (c) pull correction       (d) alignment correction 

4. The setting of points in the vertical direction is usually done 

  (a) Boning rods and travellers   (b) Sight Rails       

  (c) Slope rails or batter boards   (d) all the above 

5. Systematic Error 

  (a) it produces a serious effect on the final result         

 (b) error that under the same conditions will always be of the same size and sign 

 (c) errors that arise from inattention, inexperience, carelessness and poor judgment 

 (d) all the above 
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6. Errors that arise from inattention, inexperience, carelessness and poor judgment or 

 confusion in the mind of the observer 

(a) Accidental errors      (b) Mistakes       

 (c) Systematic errors     (d) All the above 

7. EDM is 

  (a) Electromagnetic Distance Measurement          

  (b) Electronic Distance Measurement           

  (c) Elevation and Distance Measurement           

  (d) Electronic  Direct Measurement 

8. Most advanced surveying instrument is 

  (a) Theodolite  (b)
 
Tachometer  (c)

 
Total station  (d) Dumpy level 

9. A survey which is observations of the heavenly bodies such as sun or any-other fixed star 

is done, is known as 

(a) Celestial survey      (b) Astrological survey      

(c) Photographic survey     (d) Astronomical survey 

10. solar apparent time 

(a) calculation of the passage of time based on the Sun's position in the sky  

 (b) calculation of the day time based on the Sun's position in the sky    

 (c) calculation of the normal time based on the Sun's position in the sky   

 (d) all the above 

PART – B (3 x 8= 24 Marks) 

(Answer any three of the following questions) 

11.  Explain the different elements of a simple  curve with neat sketch and brief on its 

 notations.                               (8) 

12.  Two triangulation stations A and B are 50km apart. The elevation of A is 205.5m and 

  that of B is 232.2m. The intervening ground may be assumed to have a uniform       

  elevation of 175m. Determine the height of the signal at B if the line of sight is        

  required to pass at least 3m above ground.                    (8) 

13.  What is meant by weight of an observation and enumerate laws of weights giving  

  examples.                       (8) 

14.  Summarize the care and maintenance of total station instruments.               (8) 

15.  What are parallax and refraction and how do they affect the measurements of             

   vertical angles in astronomical work?                    (8) 
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